Database Questions 5.4

Attempt each of the 4 questions. Each question has one correct answer, which can be selected by clicking in the appropriate box
Question 1

Which one of the following is NOT part of how a database is organised?

A
A field







 FORMCHECKBOX 

B
A table 







 FORMCHECKBOX 

C
A record






 FORMCHECKBOX 

D
A font style



 FORMCHECKBOX 

Question 2

A primary key allows a user to:

A
Open a database application



 FORMCHECKBOX 

B
Lock a database application



 FORMCHECKBOX 

C
Assign each record a unique identity



 FORMCHECKBOX 

D
Open individual records



 FORMCHECKBOX 

Question 3

An index allows:

A
Tables to be related



 FORMCHECKBOX 

B
All records to be quickly deleted 



 FORMCHECKBOX 

C
Speed searching and sorting of records

     
 FORMCHECKBOX 

D
Records to be entered into a database



 FORMCHECKBOX 



Question 4

Changing the number of characters in a field from 15 to 25 will:

A
Allow 25 words to be typed into a field



 FORMCHECKBOX 



B        Allow up to 25 characters to be typed into a field 

 FORMCHECKBOX 

C        Increase the size of the font for the 

           current data type from 15 to 25



 FORMCHECKBOX 

D        Allow more than 25 characters to be typed 

           into a field



 FORMCHECKBOX 



